2025 - 2026 items to purchase from Parking Kiosk funds by year's end

Year money spending planned	Project title	What	Number		Cost/item	Total	Who's researchin	Notes
			2025					
2025	New donation boxes	We have sign posts for mounting	3?		\$100.00	\$300.00 + shipping	John	Etsy
2025	Strip park	Picnic tables metal burgundy 6'x5'		3	1025.00/3+	3075.00 + shipping	John	Uline H-10002
2025	Open pavilion	Picnic tables metal burgundy 6'x5'		2	1025.00/3+	2050.00 + shipping	John	Uline H-10002
2025	Open pavilion	Picnic table metal green 8'x5'ADA		1	1095.00	1095.00 + shipping	John	Uline H-2673
2025	Pickle Ball courts - CP	Benches above courts		2	\$515.00	\$1030.00 + shipping	John	Belson Outdoor
2025	Multi-use field replacement cost in 10-15 years 1st year set-aside.	PDSC MOU, Multi-use field estimated replacement cost in 15 years \$500,000.00		1		50,000.00	Jennifer	PLP&T funding from parking kiosk - initial and annual to be determined each year
2025	Baseball field	fencing, replace and new	200' see quotes			\$5900 - 9000	Reid	
2025	Open pavilion	Bear proof trash can		1	1350.00	1350.00 + ship	Reid	Jamestown Products
2025	Centennial Pk	Trash cans at fishing line stations, have "Q" choose the top	3 Green 32 gal		Approx \$675.00	\$2025.00 + shipping	Reid	Tree Top Products SKU WR-130
2025	Open pavilion, Kent, Greeley	Pet Waste Stations		3	\$549.00	\$1647.00 + shipping	Reid	Tree Top Products SKU 4YR4376
2025	Open pavilion, Kent, Greeley	Pet waste roll bags		6	\$71.00	\$426.00 + shipping	Reid	Tree Top Products 03CB1610
2025	CP, E-rock trail, reservoir TH	Double sided information board in-ground post		4	1099.00	5495.00		Tree Top Products 9ZK8055
2025	Pickle Ball courts - CP	Double sided information board inground posts		1	1099.00	1099.00		Tree Top Products 9ZK8055

Year money spending planned		Project title	What	Number	Cost/item	Total	Who's researchin	Notes
2	2025	Pickle Ball courts - CP	Enclosed menu board wall mounted 1-sided Med.	6	275.00	1650.00		Tree Top Products 9ZK8049
2	2025	Trail sign 14"x10"	"No Trespassing, Not A Public Hiking Trail"	5	\$16.68	\$83.40 + shipping	Reid	Campground Signs #K-0651-AL-14
2025 - 2026		Apple pruning and care GP **	Prune and treat apple trees	4		Est \$5500.00	Reid	Great Western Tree
2025 - 2026		Noxious weed eradication subscription	All except Poison Hemlock, see info from Lauren	See separate schedule for each type of weed		\$1000.00 + shipping	Lauren	CO State Insectory
2025 - 2026		Poison Hemlock weed mitigation	See info from Lauren	3 releases		\$450.00 + shipping	Lauren	Integrated Weed Control, Bozeman MT
				2026				
2	2026	Columbine Park	Shade Structures	2 for 6' x 5' tables	\$2200.00	\$4400 + shipping	Reid	Yardistry
2	2026	Columbine Park	Shade Structures	1 For 8' x 5' table	\$2300.00	\$2300.00	Reid	Yardistry
2	2026	Mower	Zero turn mower	1	\$6000.00	\$6000.00	John	Lowes
2	2026	E-rock trail**	Retaining wall, estimating 400 sq ft	Block size 18" x 8"/ 1 sq ft each = 400	\$10.00	\$4000.00 + delivery	Reid	Lowes
2	2026	Baseball field**	Backstop				Reid	
2	2026	Baseball field**	Surface, artificial turf				Reid	
2	2026	Park map mounted on info kiosk - ER	Map of the park and features	2			Reid	Terrabilt Design
2	2026	Park map mounted on info kiosk - CP	Map of the park and features	2			Reid	Terrabilt Design
2	2026	Park map mounted on info kiosk - GP, CRK	Map of the park and features	2			Reid	Terrabilt Design
2	2026	Trailhead signs	Hiking Trail 10"x7"	3	\$11.54	\$34.62+ shipping	Reid	Campground Signs #K-8023

Year money spending planned	Project title	What	Number	Cost/item	Total	Who's researchin	Notes
2026	Trailhead arrow signs	Right	2	\$24.92	\$49.90 + shipping	Reid	Campground Signs #K2-4843- AL-06x24-AR
2026	Trailhead arrow signs	Left	2	\$24.92	\$49.90 + shipping	Reid	Campground Signs #K2-4843- AL-06x24-AR
2026	Wood chips for GP	Deliver & spread in the playground		\$550.00	\$550.00	Stacy	
2026	Service Day(s) materials		2	\$500	\$100.00		
2026	Bridge Maintenance	materials	1	\$100.00	\$100.00		
2026	Holiday Lights	materials		\$100.00	\$100.00		
2026	Broomball Tournament	Awards, supplies, advertising		\$1000.00	\$1000.00	Jennifer	
2026	Pea Gravel	GP playground swing area		\$100.00	\$100.00	Stacy	
2026	Pickle Ball courts - Management			\$200.00	\$200.00	John	
2025 - 2026	Open pavilion	Renovation expenses - mix of small items: paint & lumber, bulletin bd	Mix		est. \$1600.00	Mike	See open pavilion renovation punch list, revise & calculate a total
**	Not enough information						

Year money spending planned	Project title			
2025	New donation boxes			
2025	Strip park			
2025	Open pavilion			
2025	Open pavilion			
2025	Pickle Ball courts - CP			
2025	Multi-use field replacement cost in 10-15 years 1st year set-aside.			
2025	Baseball field			
2025	Open pavilion			
2025	Centennial Pk			
2025	Open pavilion, Kent, Greeley			
2025	Open pavilion, Kent, Greeley			
2025	CP, E-rock trail, reservoir TH			
2025	Pickle Ball courts - CP			

Year money spending planned	Project title			
2025	Pickle Ball courts - CP			
2025	Trail sign 14"x10"			
2025 - 2026	Apple pruning and care GP **			
2025 - 2026	Noxious weed eradication subscription			
2025 - 2026	Poison Hemlock weed mitigation			
2026	Columbine Park			
2026	Columbine Park			
2026	Mower			
2026	E-rock trail**			
2026	Baseball field**			
2026	Baseball field**			
2026	Park map mounted on info kiosk - ER			
2026	Park map mounted on info kiosk - CP			
2026	Park map mounted on info kiosk - GP, CRK			
2026	Trailhead signs			

Year money spending planned	Project title			
2026	Trailhead arrow signs			
2026	Trailhead arrow signs			
2026	Wood chips for GP			
2026	Service Day(s) materials			
2026	Bridge Maintenance			
2026	Holiday Lights			
2026	Broomball Tournament			
2026	Pea Gravel			
2026	Pickle Ball courts - Management			
2025 - 2026	Open pavilion			
**	Not enough information			